5t 7] &

Face Milling Cutter

m AJXHE 1QUI c==7IH: A26
REFRTESE T8 .!U§slr'|j| PA!ESR.':!! A KOT

®fEf15° ERTNIK
O EE R R ERIME T

' h '/‘4 (— " O 5iE G KEL I
_/ ! ! < e RBmAERHI
S © 71 H BRI 1037) f e
Roughing Pocketmiling  Sloot plungemiling  Should: Copy milling g Iz

AJX12-50-22-3T . 1.5 °
AJX12-50-22-4T | 50 47 | 38.3| 22 50 | 10.4| 6.3 | 1.5 |JDMW120420ZDSR-FT| AJX-12 | M4 x 10 T15 ° 280
AJX12-63-22-4T | 63 30 [ 51.3]| 22 50 [ 104| 6.3 | 1.5 ° 350
AJX14-63-22-3T | 63 30 [ 51.1| 22 50 | 10.4| 6.3 2 ° 350
AJX14-63-22-4T | 63 30 [ 51.1] 22 50 [10.4| 6.3 2 ° 350
AJX14-80-27-4T | 80 | 76 |68.1| 27 | 50 |12.4| 7 | 2 [PMWI0R02DSRFTI AJX-14 | M5x12 | T20 e | 600
AJX14-100-32- 100 | 96 | 88.1| 32 50 | 14.4 8 2 ° 800
m TXPH! lungalog w7 * ==K A26
Rﬁﬁﬁﬁnﬂ Member IMC Group " 4..} gﬁﬁﬁi H K01
: ®EM1I EfRTK
! * © 1 T E B AIL T
e BB R
‘ ° ABERLHTL
AL (A o | ! :ﬂﬁﬁﬁﬁk%ﬂkmsmﬁi’%

. 1.5 | WPMWO06X415ZPR °
TXP08-50-22-3T | 50 | 47 | 38.6| 22 | 50 |10.4| 6.3 | 1.5 o 280
TXP08-63-22-4T | 63 | 59 | 51.6| 22 | 50 |10.4| 6.3 | 1.5 o 350
TXP08-80-27—4T | 80 | 70 | 68.6| 27 | 50 |12.4| 7 | 1.5 | "WPVTOS0615zSR | TXP-08 | MSx11 | 120 e | 600
TXP08-100-32-6T| 100 | 90 | 88.6| 22 | 50 |14.4| 8 | 1.5 o 800
B SKSH! c=T1H: A25
% i aT S T8 //DlJ ET FERM: K01
7] eEMI5 EfTIL
O E R BHEM LT
FE
S
#F
SKS08-50-22-4T | 50 47 22 50 10.4 | 6.3 o 280
———  SKS08-63-22-4T | 63 60 22 50 10.4 | 6.3 MA5x 10 o 350
u SKS08-66-27-4T | 66 60 27 50 12.4 7 |wDMW080520ZTR| SKS-08 N'st b T20 o 500
SKS08-80-27-5T | 80 70 27 55 12.4 7 x o 600
ff(% SKS08-100-32-6T] 100 90 32 55 14.4 8 o 800
" e HITACHI T s
B saR Y 5] FRE: KO
© HE R BRI LT
© B & K AR T )

B M (ammak © AR IR MR
ASR-50-22-4T 50 47 22 50 10.4 | 6.3 M2.5x 6 T8 o 280
ASRT-63-22-4T 63 60 22 50 10.4 | 6.3 E o 350

ASR
ASRT-80-27-5T | 800 70 27 50 12.4 7 ErnwSR o o 600
ASRT-100-32-5T | 100 90 32 50 14.4 8 o 800
ASRT-125-40-6T | 125 90 40 50 16.4 9 @ ASRT-15| M5x12 T20 o 1000
ASRT-160-40-8T | 160 | 120 40 50 16.4 9 o 1200
ASRT-200-60-8T | 200 | 120 | 60 50 | 25.7 | 14 | pnivoasaTos e | 1600
——  ASRT-200-60-10T| 200 120 60 50 25.7 14 EPMW0603T-8 ° 1800

Huichttp://www. mzginj. com 43N T H Bk http://www. topshopw. com

MZGHULME T H:http://www. mzgtool. com MZGYJH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

= BAPRI MITSUBISHI
EASEmsxT)ig SUBISHI MATERIALS

=) = )
=] 1=
mEAnT

ocketmilling  Sloot,plungemiling  Sho ‘Copy milling

nnnnnnnnn

—=—71k: A26
FHLF: KO
- O FEM11° ERTKE

O EE STEME T R, Wil AREStH

:l MM, RBEHK, HEH

O 1K R, BE A/

BAP300R—40-16-5T 40 | 16 | 40 | 8.4 | 56 e | 250
BAP300R-50-22-6T 50 | 22 | 50 | 104 | 6.3 APMT1135PDER | M2.5x6 T8 o | 225
BAPA400R-50-22-4T 50 | 22 | 50 | 10.4 | 6.3 e | 200
BAP400R-63-22-4T 63 | 22 | 50 | 104 | 6.3 o | 225
BAPA400R-80-27-6T 80 | 27 | 50 | 124 | 7 e | 350
BAP400R-100-32-6T | 100 | 32 | 50 | 144 | 8 o | 540
BAP40OR-125-40-7T | 125 | 40 | 63 | 16.4 | 9 e | 665
BAP400R-160-40-8T | 160 | 40 | 63 | 16.4 | 9 e | 1100
BAP40OR-200-60-9T | 200 | 60 | 63 | 25.7 | 14 APMT1604 PDER | M4x10 5 e | 1600
BAP400R-250-60-10T | 250 | 60 | 63 | 25.7 | 14 e | 2100
BAP40OR-63-254-4T | 63 | 254 | 50 | 10 | 6 o | 225
BAP40OR-80-254-6T | 80 | 25.4 | 50 | 10 | 6 e | 350
BAP400R-100-31.75-6T | 100 |31.75| 50 | 13 | 8 o | 540
BAP400R-125-38.1-8T | 125 | 38.1 | 63 | 16.2 10 ° 665
BAP400R-160-50.8-9T 160 | 50.8 63 19.3 11 ° 1100
m AHUB#! HITACHI f&: c==71K: A26
BEAERRESET) L | E FEH: KO

‘ z O KR, WALE

I RS 5 'R e
A | . O SR, 5

AHUB-50-22-4T 50 22 50 10.4 6.3 ° 200
AHUB-63-22-4T 63 22 50 10.4 6.3 ° 225
AHUB-80-27-6T 80 | 27 | 50 | 124 | 7 JDMT1S05LILIR | M4x10 T15 e | 350
AHUB-100-32-6T 100 | 32 | 50 | 144 | 8 o 540
m EMRE! .TSUBiSHi
ESEs TS SUBISHIMATERIALS —=—71R: A26
FfcfF: Ko

..

Roughing Plane finishing

‘Copy milling

__/
B aeans

Pocketmillng  Sloot,plungemiling  Sho

EMR-5R-50-22-4T

EMR-5R-63-22-4T 63 22 50 10.4
EMR-5R-80-27-6T 80 27 50 12.4
EMR-5R-100-32-6T 100 32 50 14.4
EMR-5R-125-40-7T 125 40 63 16.4
EMR-5R-160-40-8T 160 40 63 16.4
EMIR-5R-63-25.4-4T 63 25.4 50 10
EMR-5R-80-25.4-6T 80 25.4 50 10
EMR-5R-100-31.75-6T | 100 | 31.75| 50 13

6.3

0o oo O~

oo oo og O

RPMW 1003 MO
RPMT 10T3 MOE

Y-5R

O EA11° ERTIE
O] g, BAME
OFEEM LA, HIEHF
OB RE, MiEE

200
225
350
540
750
1150
225
350
540

M4 x 10

M3.5x 10 s

R

R R ZES W http://www. mzginj. com B4EFEHLML T L@ http: //www. topshopw. com

MZGHLME T H:http://www. mzgtool. com MZGHJH| L H:http://www. mzcut. com



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

5t 7] &

Face Milling Cutter

®m EMRW  iTSUBISHI

ESmESETIAE | AMITSUBISHIMATERIALS —=—71H: A25-26

1
: G T KO

T

Y OEAI ERNA

( A = " | . O 7] i, EAMRE
E I I l 4 i 4 OFEZMK, HIEH
BMT wanr | |\morns] |=momc ‘ D ' ORI, WILE

Roughing Plane finishing Pocketmilling  Sloot plungemiling  Shoulder milling ‘Copy milling

= R~t Size JE# Clamp #2%T Screw #2F Wrench
= T Insert Stock
Cat. No D d H W T a
EMRW-6R-50-22—4T 50 | 22 | 50 | 104 | 6.3 | 6 ‘ .
EMRW-6R—63-22-4T 63 | 22 | 50 | 104 | 63 | 6 . 225
EMRW-6R-80-27-6T 80 | 27 | 50 | 124 | 7 6 o 350
EMRWOR 15 07T | 125 | 40 | 63 | 164 | 6 | o | RMTIOMO . | 750
— - . [ ]
EMRW-6R-160-40-8T | 160 | 40 | 63 | 16.4 | 9 6 Y-6R | M4x10 | T15 e | 1150
EMRW-6R-200-60-9T | 200 | 60 | 63 | 25.7 | 14 6 @ e | 1600
EMRW-6R-63-254-4T | 63 | 254 | 50 | 10 6 6 . 225
EMRW-6R-80-25.4-6T 80 25.4 50 10 6 6 RPMW1204 MO ° 350
EMRW-6R-100-31.75-6T 100 | 31.75| 50 | 13 8 6 o 540
H R200 SANDVIK
P R 7] B. A25-26
B EstT)e et TR KOT
= (2 O EE LS ETIEET H
wmT BEMT M E o i, MR
= R~t Size J1K Insert JE# Clamp 4257 Screw #73F Wrench
= Stock
Cat. No D d H W T a
R200-5R-50-22-4T 50 | 22 | 50 | 104 | 6.3 | 5 o
R200-5R-63-22-4T 63 | 22 | 50 | 104 | 63 | 5 M35 x 8.5 . 225
_ R200-5R-80-27-6T 80 | 27 | 50 | 124 | 7 5 |RCLTI0TSMO| Y-5R | i35 10| 115 e | 350
R200-5R-100-32-6T | 100 | 32 | 50 | 14.4 | 8 5 . 540
# R200-6R-50-22-4T 50 | 22 | 50 | 104 | 63 | 6 . 200
oy R200-6R-63-22-4T 63 | 22 | 50 | 104 | 63 | 6 - . 225
7] R200-6R-80-27-6T | 80 | 27 | 50 | 12.4 | 7 | e |RCLIT1204MOl Y-6R | M4x10 | T15 o | 350
o R200-6R-100-32-6T | 100 | 32 | 50 | 14.4 | 8 6 o 540
R200-8R-63-22-4T 63 | 22 | 50 | 104 | 63 | 8 o 250
———  R200-8R-80-27-6T 80 | 27 | 50 | 124 | 7 8 o 400
R200-8R-100-32-6T | 100 | 32 | 50 | 14.4 | 8 8 o 600
T R200-8R-125-40-6T | 125 | 40 | 63 | 16.4 | 9 ggg| "CLIT1606MO)  Y-8R | M5x12 T20 e | 750
K R200-8R-160-40-6T | 160 | 40 | 63 | 16.4 | 9 8 e | 1150
o R200-8R-200-60-6T | 200 | 60 | 63 | 257 | 14 8 e | 1600
R200-10R-100-32-5T | 100 32 63 | 14.4 8 10 M5 x 12 T20 ] 600
———  R200-10R-125-40-6T | 125 | 40 | 63 | 164 | 9 | 10 |RCLT206MOl Y-10R | wgs45 | T30 e | 750

—==71k: A25-26

” B TRS w )
% E&msts WALTER HITACHI TR K01

& [ A == r‘
: win SUEE
f

®fEM15° ERATIR
® 7] i, EAEE
OXBEMX, HBEHF
O, Wit

Roughing Plane finishing Pocketmiling  Slool.plungemiling  Shoulder milling ‘Copy milling

= R~t Size J1K Insert JE# Clamp 4257 Screw #R3F Wrench
S— = €> Stock
Cat. No D d H w T a8
G TRS-5R-50-22-4T 50 | 22 | 50 | 104 | 63 | 5 .
TRS-5R-63-22-4T 63 | 22 | 50 | 104 | 63| 5 M4 x 9 o | 225
g TRS-5R-80-27-6T 80 | 27 | 50 | 124 | 7 5 |RDLTI0TSMO| Y-5R | \i3gq0| T15 e | 350
TRS-5R-100-32-6T | 100 | 32 | 50 | 14.4 | 8 5 o | 540
 TRS-6R-50-22-4T 50 | 22 | 50 | 104 | 63 | 6 e | 200
TRS-6R—-63-22-4T 63 | 22 | 50 | 104 | 63 | 6 o | 225
o TRS-6R-80-27-6T 80 | 27 | 50 | 124 | 7 g |RDUTI124MO|  Y-6R | Max10 | T15 e | 350
7] TRS-6R-100-32-6T | 100 | 32 | 50 | 14.4 | 8 6 e | 540
# TRS-8R-63-22-4T 63 | 22 | 50 | 104 | 63 | 8 e | 250
TRS-8R-80-27-5T 80 | 27 | 50 | 124 | 7 8 |RDOIT1606MO| Y-8R | M5x115|  T20 o | 400
———  TRS-8R-100-32-6T | 100 | 22 | 50 | 14.4 | 8 8 e | 600

PE B gE i http: //www. mzging. com #EFEMNIAN T H B http: //www. topshopw. com  MZGHLEE T H:http://www. mzgtool. com MZGYJiH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

=
a0

B KM-45° E(ORLOY m , —=—71R: A25-26
Eﬁnﬁ MZG SPAK PLUG Co.,LTD = FFLE: KO
x ogfﬂg@ﬁ}jm BESERETL,
it
© T8 A F E M M F N T
(smmale o ‘JT SKAUM, WHIAN,
)= R~t Size J1H Insert #2£T Screw $R3F Wrench
L5 N Stock
Cat. No D D1 d H w
KM12-50-22-4T 50 64 22 50 10.4 6.3 °
KM12-63-22-4T 63 77 22 50 10.4 6.3 ° 280
KM12-80-27-5T 80 94 27 50 12.4 7 ° 400
KM12-100-32-5T 100 114 32 50 14.4 8 ° 600
KM12-125-40-6T 125 139 40 63 16.4 9 ° 750
KM12-160-40-6T 160 174 40 63 16.4 9 SEHT 1204 M5 x 11 T20 ° 1150
KM12-200-60-8T 200 210 60 63 25.7 14 ° 1600
KM12-250-60-10T 250 260 60 63 25.7 14 ° 2100
KM12-63-25.4-4T 63 77 25.4 50 10 6 ° 280
KM12-80-25.4-5T 80 94 25.4 50 10 6 ° 400
KM12-100-31.75-5T 100 114 31.75 50 13 8 ° 600
o 0 . ’
B RAP-75° MITSUBISHI
msx7)as MITSUBISHI MATERIALS C=—T1K: A25-26
FALE: KO
_mnT ‘ p"f'! - F ® EFIAPMT1604REF T o, HIAIRLE
me R~ Size J1E Insert 25T Screw #RF Wrench
= Stock
Cat. No D d H W T a h
RAP400R-63-22-4T 63 22 50 10.4 6.3 8 ° 225 ﬁj
RAP400R-80-27-5T 80 27 50 12.4 7 8 APMT 1604 PDER M4 x 10 T15 ° 350 [—
RAP400R-100-32-6T 100 32 50 14 .4 8 8 ° 540
m FM90° o £
S8 ORLOY c==T71F: A25-26 7]
Ef: KO1 bt
e '/“ =" < OTAT sk, FH. THE. HMT
_ —/ ! ! 4 & REIHA, KHi, MR IE
mmT Hﬂim: (ammn) |zmopm OELER, BRE ¥
= R -t Size T1F Insert #24T Screw #RF Wrench 15]:
= Stock
Cat. No D d H W T D [
FM09-50-22-4T 50 22 50 10.4 6.3 ° 200 ﬂ’ﬂ
FM09-63-22-5T 63 22 50 10.4 6.3 ° 225
FM09-80-27-6T 80 27 50 | 12.4 | 6.3 | SELIT090308 M3 x7 8 e | 350 o
FM09-100-32-8T 100 32 50 14.4 6.3 ° 540 ?L
m R390 SANDVIK g [ ‘
EAEEEET)E | = —==71K: A25-26 15
1 ! FEAM: KO o
T\ - 7
_ 3 . . . . m[ .ﬁaamggﬁiﬁgnﬁ I
5(?'}% saul] fruce: o citminh, mem ”
q J1H Insert #2%T Screw $RF Wrench
B2 R~ Size pinse 7]
Cat. No D d H W T é@) E Stock &2
R390-11-50-22-4T 50 22 50 10.4 6.3 ° J—
R390-11-63-22-4T 63 22 50 | 104 | 6.3 | N990-117308 | M25x6 8 7S
R390-17-63-22-4T 63 22 50 10.4 6.3 ° %
R390-17-80-27-6T 80 27 50 12.4 7 ° 7]
R390-17-100-32-6T 100 32 50 14.4 8 R390-170408 M3.5x 10 T15 o ﬁ
R390-17-125-40-6T 125 40 63 16.4 9 °
R390-17-160-80-6T 160 40 63 16.4 9 ° B —

<
=y

o

Gutichttp://www. mzginj. com #FHLM T H I http://www. topshopw. com

MZGHLAK T H :http://www. mzgtool. com MZGYIH] T H :http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

5t 7] &

Face Milling Cutter

mTP TSUBISHI o i
EAESMESTTIME | AWTsUBISHI VATERIALS Him 7777 W= —=—71h: A25-26
! t FEAM: Kot
I I
@ "/ : :
pEmT L.mg oD \ OB MGHETIE, IEI M AR
me Rt Size J1E Insert JE#R Clamp #24T Screw #7F Wrench
Stock
Cat. No D d H w T a )
TP11-40-16-4T 40 16 45 8.4 5.6 9 P D 160
TP11-50-22-4T 50 | 22 | 50 | 104 | 63 | g | [PUNTO03 | TP-11 | SNM6%# | L3 e | 160
TP16-50-22-4T 50 22 50 | 10.4 | 6.3 14 TPLIN1603 TP-16 1/42 7 L4 o 160
TP22-63-22-3T 63 22 50 | 10.4 | 6.3 18 . 160
TP22-80-27-4T 80 27 50 | 12.4 7 18 . 270
TP22-100-32-5T 100 32 50 | 14.4 8 18 . 425
TP22-125-40-6T 125 40 60 | 16.4 9 18 . 540
TP22-160-40-7T 160 | 40 63 | 16.4 9 18 . 850
TP22-200-60-8T 200 60 63 | 25.7 14 18 P o 1350
TP22-63-25.4-3T 63 | 254 | 50 | 10 6 18 | TPLIN2204 | TP-22 | 51647 LS . 160
TP22-80-25.4-4T 80 25.4 50 10 6 18 ° 270
TP22-100-31.75-6T | 100 | 31.75| 50 13 8 18 o 425
TP22-125-38.1-6T 125 | 38.1 | 60 | 16.2 10 18 o 540
TP22-160-38.1-7T 160 38.1 63 16.2 10 18 . 850
TP22-47.625-8T 200 |47.625| 63 | 25.4 | 143 | 18 o 1350
0 . ’ d
B SD45° ITSUBISHI T c==71K: A25-26
[iE L MITSUBISHI MATERIALS FhM: Kot
b = ®
: el S
% mor )| wnr zmmnle o R ABBILEH A SIS
B .
W BE R~f Size
I = 7] T 7] Insert Stock
Al Cat. No 462D FL1&d = EH gk Fr g
_ SD-445-03-25.4 80 25.4 55 5 o 400
SD-445-04-31.75 100 31.75 55 5 . 600
¥ SD-445-05-38.1 125 38.1 60 6 ° 800
42 SD-445-06-50.8 160 50.8 60 8 Y v, | SDKN1203 o 1150
- SD-445-08-47.625 200 47.625 65 10 T o 1600
7] SD-445-10-47.625 250 47.625 65 12 ' . 2400
A SD-445-12-47.625 300 47.625 65 14 . 3200
SD-545-03-25.4 80 25.4 55 5 ° 400
— SD-545-04-31.75 100 31.75 55 5 ° 600
SD-545-05-38.1 125 38.1 60 6 o 800
Ik SD-545-06-50.8 160 50.8 60 8 Y v, | SDKN1504 o 1150
" SD-545-08-47.625 200 47.625 65 10 — oy o 1600
SD-545-10-47.625 250 47.625 65 12 15875 : . 2400
#F SD-545-12-47.625 300 47.625 65 14 o 3200
.. W SE45° [Hire|BiSHI — = 7K A25-26
Zg mEt MITSUBISHI MATERIALS TR KOT
/// T
7L _ SE— V‘ “//. ®EM20° ERIKE
‘ A /1 o KHi I
T | b 45¢| OXAFAIEEEEEIE
. y milling
e ;
o i = R~t Size
= 7] T 7] Insert Stock
*;EL Cat. No 5MED FLiEd A EH = R
SE-545-03-25.4 80 25.4 50 5 o 300
- SE-545-04-31.75 100 31.75 50 6 ° 300
SE-545-05-38.1 125 38.1 50 7 . 400
o SE-545-06-50.8 160 50.8 55 8 Y [l %. | SEKN1504 . 600
SE-545-08-47.625 200 47.625 55 10 5—747 et . 800
7] SE-545-10-47.625 250 47.625 55 12 o878 : o 1150
& SE-545-12-47.625 300 47.625 55 14 . 1600
SE-445-63-22 63 22 50 4 . 2400
—— SE-445-63-25.4 63 25.4 50 4 o 3200
SE-445-03-25.4 80 25.4 50 5 o 400
5;5!5 SE-445-04-31.75 100 31.75 50 6 ° 600
7 SE-445-05-38.1 125 38.1 50 7 Y L%, | SEKN1203 0 800
SE-445-06-50.8 160 50.8 55 8 b ot o 1150
# SE-445-08-47.625 200 47.625 55 10 : e | 1600
SE-445-10-47.625 250 47.625 55 12 ° 2400
— SE-445-12-47.625 300 47.625 55 14 ° 3200

i

=

Bl Aui-http: //www. mzgingj. com 4 PHILAE T E Bk http://www. topshopw. com  MZGHLME T H:http://www. mzgtool. com MZGYJHE] T E:http://www. mzcut. com

8]
HH


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

=

=]
A

ord

B SP65°

FESETIS

ITSUBISHI

MITSUBISHI MATERIALS

—=—71kK: A25-26

T Kot

[ (2 /4Oy
= 7T
PRSI N oRmHMEERA S
B R~F Size
Cat. No MED 7L75d =EH TIR#T J1 K ##& Insert Stock
SP-435-03-25.4 80 25.4 55 5 o 400
SP-435-04-31.75 100 31.75 55 5 . 600
SP-435-05-38.1 125 38.1 60 6 o 800
SP-435-06-50.8 160 50.8 60 8 Y L%, | SPKN1203 o 1150
SP-435-08-47.625 200 47.625 65 10 D o 1600
SP-435-10-47.625 250 47.625 65 12 : . 2400
SP-435-12-47.625 300 47.625 65 14 o 3200
SP-535-03-25.4 80 25.4 55 5 . 400
SP-535-04-31.75 100 31.75 55 5 o 600
SP-535-05-38.1 125 38.1 60 6 . 800
SP-535-06-50.8 160 50.8 60 8 Y L v | SPKN1504 e | 1150
SP-535-08-47.625 200 47.625 65 10 % o . 1600
SP-535-10-47.625 250 47.625 65 12 15875 478 o 2400
SP-535-12-47.625 300 47.625 65 14 . 3200
° O + +
LA M!;!u§slﬁij|n%!g|!\-!s! =" TI1F: A25-26
FEGTIE EfitF: Kol
" e
A
OER11° ERTIA
(zmml ORABWUBEL & T8
S R~f Size
Cat. No 5MZED 7LiEd =&H TR#T Stock
FP-03-25.4 80 25.4 55 5 o 400
FP-04-31.75 100 31.75 55 6 . 600
FP-05-38.1 125 38.1 60 8 o 800
FP-06-50.8 160 50.8 60 10 Y v, | SPKN1203 . 1150
FP-08-47.625 200 47.625 65 12 e ot e | 1600
FP-10-47.625 250 47.625 65 16 ’ ° 2400
FP-12-47.625 300 47.625 65 20 ° 3200
W APC lIITSUBISHI
FKEVASE TR MITSUBISHI MATERIALS —==71k: A25-26
EfitF: Kol
O R~ AT IIAT R iR,
e o [xamal LT
= R~f Size
C%T\lo D r o R m TIEHT | 71K Insert H25T Screw #2F Wrench | Stock
APC-50-22-45L 50 22 45 64 9 > @ o 1800
APC-63-25.4-45L 63 25.4 45 64 12 =2 M4 T15 . 2400
APC-62-25.4-68L 63 25.4 68 90 20 APKT1604 o 2600
: H
B SPC == | A ‘
W c==71H: A25-26
FEkaymstse  WALTER - TEE: KO
'/“ 5’ ° O E AT T), SEMTRAL
me! —— © R~HT B T R
ERL BpIND mE BB AR
= R~ Size J1 R Insert
Ci?\lo D p A‘l’ H [ omT .):L T #2£T Screw | #2F Wrench | Stock
SPC-80-31.75-80L 80 | 31.75| 67 80 6 o 2800
SPC-80-32-80L 80 | 32 | 67 | 80 g LPMT1504 SPMT1204| 18 M5 T20 e | 2800
SPC-100-40-100L 100 | 40 77 100 8 [LPMT1504 SPMT1204] 24 M5 T20 o 3500

fRI A chttp: //www. mzgingj. com 43N T H @ 3k: http://www. topshopw. com

#
7]
=

o

o

|

MZGHLAE T H:http://www. mzgtool. com MZGYIH| T E:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor

H ASR HITACHI C==7J1K: A25-26
REFRIIHET) ) FEFf: KO
ol 44— L. . . —3
] A W s
g e iy
Roughing Pocket milling Sloot,plungemiling  Shoulder milling Copy milling L
W OFiES, BUE
ELIp=] R-~t Size DIb J1H Insert #2$T Screw #RF Wrench
Cat. No D d L L1 | No.offlutes E @ ) Stock
ASR2016 x 160-C16-2T 16 16 160 50 2 ° 160
ASR2017 x 160-C16-2T 17 16 160 - 2 ° 160
ASR2020 x 160-C20-2T 20 20 160 50 2 ° 175
ASR2021 x 160-C20-2T 21 20 160 50 2 ° 175
ASR2025 x 160-C25-3T 25 25 160 - 3 EPNWO603TN-8 M2.5 x 6 T8 ° 225
ASR2025 x 200-C25-3T 25 25 200 50 3 EPMTO0603TN-8 . ° 240
ASR2026 x 160-C25-3T 26 25 200 - 3 ° 240
ASR2032 x 160-C32-4T 32 32 160 75 4 ° 260
ASR2033 x 160-C32-4T 33 32 160 - 4 ° 260
ASR2033 x 160-C32-4T 33 32 200 - 4 ° 285
H AJX ITSUBISHI < —==71k: A25-26
SIS T) ITSUBISHI MATERIALS o FhfF: Kot
7 (= S TARRS T 1T
sans ng RIEN
- OFiES, BUE
EiIR=3 R~ Size N 71K Insert FE#R Clamp | #24TScrew | #R=EWrench
Cat. No D d L L1 a No. of flutes @ E @
— AJX06-17 x 160-C16 | 17 16 160 - 1 2 JOMWO06T215ZZSR - M2.5x 6 T8
AJX08-21 x 160-C20 | 21 20 160 - 1.5 2 JOMWO08320ZZSR - M3x7 T10
AJX09-26 x 200-C25 26 25 200 - 2 2 JOMWO09T320ZDSR | AJX-09 M4 x 10 T15
= AJX12-33 x 160-C32 | 33 32 160 - 2 2
7] AJX12-33 x 200-C32 | 33 32 200 - 2 2 JDMT120420ZDSR | AJX-12 | M4 x10 T15
o] AJX12-33 x 250-C32 | 33 32 | 250 s 2 2

Bt
7]
#

FAE

-«
Zo
o

ARME A v http: //www. mzginj. com ¥ N T H &3 http://www. topshopw. com  MZGHLME T H:http://www. mzgtool. com MZGYJH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

m BAP ITSUBISHI
=93k 9))] MITSUBISHI MATERIALS

L2 =~ 71k A25-26

od

oD

EfcfF: Kot

: ‘

-

n_
")
=

Blgg&uti-http://www. mzginj. com $PFEHLM T H I http:

O EEENYIHI, EHRETER—BKETINIME
O HAL T ST, MR,
1] = Ry
L= R~t Size T Stock
Cat. No D d L L1 L2 a No. of flutes
BAP300R-10 x 130 10 10 130 30 - 9 1 o 90
BAP300R-11 x 130-C10 11 10 130 30 = 9 1 . 90
BAP300R-12 x 130 12 12 130 30 - 9 1 o 95
BAP300R-13 x 130-C12 13 12 130 30 - 9 1 . 95
BAP300R-16 x 130 16 16 130 40 - 9 2 . 100
BAP300R-16 x 160 16 16 160 40 - 9 2 . 100
BAP300R-16 x 200 16 16 200 40 100 9 2 . 130
BAP300R-16 x 160-C15 17 15 160 40 - 9 2 . 100
BAP300R-17 x 160-C16 17 16 160 40 - 9 2 o 100
BAP300R-17 x 200-C16 20 16 200 40 - 9 2 . 130
BAP300R-20 x 130 20 20 130 40 - 9 2 . 115
BAP300R-20 x 160 20 20 160 50 - 9 2 . 120
BAP300R-20 x 160-C19 20 19 160 50 - 9 2 o 120
BAP300R-20 x 200 20 20 200 50 100 9 2 . 135
BAP300R-20 x 200-C19 20 19 200 50 - 9 2 o 135
BAP300R-21 x 160-C20 21 20 160 50 . 9 2 o 120
BAP300R-21 x 200-C20 21 20 200 50 - 9 2 ° 135
BAP300R-25 x 120 25 25 120 50 - 9 3 ° 140
BAP300R-25 x 160 25 25 160 50 - 9 3 ° 150
BAP300R-25 x 200 25 25 200 50 - 14 3 ° 160
BAP400R-25 x 160 25 25 160 50 B 14 2 ° 140
BAP400R-25 x 160-C24 25 24 160 40 - 14 2 ° 140 ]
BAP400R-25 x 200 25 25 200 75 - 14 2 o 150
BAP400R-25 x 200-C24 25 24 200 50 - 14 2 ° 150 —
BAP400R-25 x 250 25 25 250 50 115 14 2 ° 165
BAP400R-26 x 160-C25 26 25 160 40 - 14 2 ° 140
BAP400R-26 x 200-C25 26 25 200 50 - 14 2 ° 150 E )
BAP400R-26 x 250-C25 32 25 250 50 - 14 2 ° 165 7]
BAP400R-32 x 160 32 32 160 50 - 14 2 ° 160 1
BAP400R-32 x 200 32 32 200 80 - 14 2 o 170
BAP400R-32 x 250 32 32 250 60 115 14 2 ° 190 —_—
BAP400R-32 x 300 32 32 300 60 115 14 2 ° 220
BAP400R-35 x 160-C32 35 32 160 60 B 14 3 ° 185 iE
BAP400R-35 x 200-C32 35 32 200 60 - 14 3 o 200 K
BAP400R-35 x 250-C32 35 32 250 60 - 14 3 ° 240 g
BAP400R-35 x 300-C32 35 32 300 60 B 14 3 . 280
BAP400R-35 x 350-C32 35 32 350 60 - 14 3 ° 320 —
BAP400R-35 x 400-C32 35 32 400 60 - 14 3 ° 360 o]
BAP400R-40 x 200-C32 40 32 200 60 - 14 3 . 220 o
BAP400R-40 x 250-C32 40 32 250 60 - 14 3 ° 260
BAP400R-40 x 300-C32 40 32 300 60 - 14 3 . 300 L
BAP400R-40 x 350-C32 40 32 350 60 - 14 3 ° 340 —
BAP400R-40 x 400-C32 40 32 400 60 - 14 3 ° 400
i
&
7L
me J1F Insert #24T Screw #R%3F Wrench
S
Cat. No O] E @ ) 5
BAP300R APMT 1135 PDER M2.5 x 6 T8 g
BAP400R APMT 1604 PDER M4 x 9 T15
#
7]
#F

//www. topshopw. com  MZGHLME T H:http://www. mzgtool. com MZGYIH| T HE:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor

H AHU c==71K: A25-26
ERASEST HITACHI 3 FRAE: K0T
o [ [ W
EMT
L O FEEENYIHI, BEEETNERE—MBETIHIME
@I [O8H, EE,
ﬂ% RTJ' Size J1K Insert 9257 Screw #3F Wrench
Cat. No D | d | L | L1|L2] a @ i @ % stock
AHU10-16 x 160 16 | 16 | 160 | 40 | - 9 e | 100
AHU10-16 x 200 16 | 16 | 200 | 40 | 100 | 9 e | 130
AHU10-17 x160-C16 | 17 | 16 | 160 | 40 | - 9 e | 100
AHU10-17 x200-C16 | 17 | 16 | 200 | 40 | - 9 e | 130
AHU10-20 x 160 20 | 20 | 160 | 50 | - g | JDMT1008LILIR | M25x6 8 e | 120
AHU10-20 x 200 20 | 20 | 200 | 50 | 100 | 9 e | 135
AHU10-21x160-C20 | 21 | 20 | 160 | 40 | - 9 e | 120
AHU10-21x200-C20 | 21 | 20 | 200 | 50 | - 9 e | 135
AHU15-25 x 160 25 | 25 | 160 | 50 | - | 14 o | 150
AHU15-25 x 200 25 | 25 | 200 | 75 | - | 14 e | 160
AHU15-26 x 160 26 | 25 | 160 | 50 | - | 14 | JPMT1S05LILIR M4 x9 T5 e | 150
AHU15-26 x 200 26 | 25 | 200 | 75 | - | 14 e | 160
H R390 SANDVIK 3| <="7h: A25-26
EHHSERE |_Coromant_| — EfieF: Kol
EARRMED [ ) s N
e
= P |
L1
L
L OEES, BTHMT
é] g!% R+t Size J1 B Insert #24T Screw #73F Wrench
] = Stock
Cat. No D d L L1 a E & » o¢
# R390-11-16 x 160-C16-2T | 16 16 | 160 | 40 1 e | 125
45 R390-11-16 x 200-C16-2T | 20 20 | 200 | 50 1 e | 150
R390-11-20 x 160-C20-2T | 20 20 | 160 | 40 1 e | 150
;% R390-11-20 x 200-C20-2T | 25 25 | 200 | 50 1 R390-11T308 M2.5%6 T8 o | 175
R390-11-25 x 160-C25-2T | 25 25 | 160 | 40 1 o | 175
 R390-11-25x200-C25-2T | 25 25 | 200 | 50 1 e | 200
R390-17-25 x 160-C25-2T | 25 25 | 160 | 40 17 o | 175
13 R390-17-25 x 200-C25-2T | 25 25 | 200 | 50 17 | R390-170408 M35 x 8 T15 e | 200
K R390-17-32 x 200-C25-2T | 25 25 | 200 | 50 17 e | 300
o

_  ® T217.69 SECO ==K A25-26

BEAEERRT ’ i — T KO
¥ of N
*H Lemt | -ﬁ?nl':l_ 97%\

od

%E Roughing Plane finis|

V/A —= =) .
‘ A L1
wEMT (zmmnl) |FmspmY

Pocketmilling  Sloot plungemiling  Shoulder milling Copy milling

B
ol ) = R~t Size J1F Insert #2£T Screw #73F Wrench
= as ) Stock
7L Cat. No D d L L1
T217.69-8 x 100-C8-1T 8 8 100 25 ° 130
T217.69-10 x 130-C10-2T 10 10 130 30 ° 150
ok T217.69-11 x 130-C10-2T 11 10 130 - ° 150
7] T217.69-12 x 130-C12-2T 12 12 130 30 XOMX060208 M1.8x 4 T6 ° 160
& T217.69-13 x 130-C12-2T 13 12 130 - ° 160
T217.69-16 x 160-C16-2T 16 16 160 40 ° 175
— T217.69-17 x 160-C16-2T 17 16 160 - ° 175
T217.69-20 x 160-C20-2T 20 20 160 40 ° 185
=3 T217.69-21 x 160-C20-2T 21 20 160 - XOMX090308 | M25x5.5 T8 o | 185
7] T217.69-25 x 160-C25-2T 25 25 160 50 ° 190
#F T217.69-25 x 200-C25-2T 25 25 200 60 OMX1204 v 1 ° 200
T217.69-26 x 160-C25-2T 26 25 160 ; OMX120408 B3.5x8 5 e | 190
——  T217.69-26 x 200-C25-2T 26 25 200 - ° 200

")
=

Bl aui-http: //www. mzging. com 4 PEHILAE T H Pk http://www. topshopw. com  MZGHLBE T H:http://www. mzgtool. com MZGYJH| T E:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

® EMR

od

—=—71k: A25-26

E375t7) MIIT.!-Ugsl}.-ijl E\!glﬂsl quL — T ] TEE. KO
» OB =
O EM SBEERTIF, HELS.
L= R~t Size T Stock .
Cat. No D d L L1 L2 a No. of flutes
EMR-4R x 12 x 130 12 12 130 40 - 4 1 . 100
EMR-4R x 13 x 130-C12 13 12 130 40 = 4 1 . 100
EMR-4R x 16 x 130 16 16 130 40 - 4 2 . 110
EMR-4R x 16 x 160 16 16 160 40 - 4 2 . 110
EMR-4R x 16 x 160-C15 16 15 160 40 - 4 2 . 110
EMR-4R x 16 x 200 16 16 200 40 100 4 2 ° 140
EMR-4R x 16 x 200-C15 16 15 200 50 - 4 2 . 140
EMR-4R x 17 x 160-C16 17 16 160 40 - 4 2 . 110
EMR-4R x 17 x 200-C16 17 16 200 50 - 4 2 . 140
EMR-4R x 20 x 160 20 20 160 50 - 4 2 . 130
EMR-4R x 20 x 160-C19 20 19 160 50 - 4 2 . 145
EMR-4R x 20 x 200 20 20 200 50 100 4 2 . 130
EMR-4R x 20 x 200-C19 20 19 200 50 - 4 2 . 145
EMR-4R x 21 x 160-C20 21 20 160 50 - 4 2 . 130
EMR-4R x 21 x 200-C25 21 20 200 50 - 4 2 . 145
EMR-5R x 20 x 160 20 20 160 50 - 5 2 . 130
EMR-5R x 20 x 200 20 20 200 50 100 5 2 ° 145
EMR-5R x 21 x 160-C20 21 20 160 50 - 5 2 ° 130
EMR-5R x 21 x 200-C20 21 20 200 50 - 5 2 ° 145
EMR-5R x 25 x 160-C25 25 25 160 50 - 5 2 ° 100
EMR-5R x 25 x 160-C20 25 20 160 50 - 5 2 ° 100
EMR-5R x 25 x 160-C24 25 24 160 50 - 5 2 ° 100 )
EMR-5R x 25 x 200-C25 25 25 200 75 - 5 2 ° 135
EMR-5R x 25 x 250-C25 25 25 250 60 - 5 2 o 135 —
EMR-5R x 25 x 200-C20 25 20 200 50 . 5 2 ° 135
EMR-5R x 25 x 200-C24 25 24 200 50 - 5 2 ° 135
EMR-5R x 25 x 250-C24 25 24 250 50 - 5 2 ° 160 i)
EMR-5R x 26 x 160-C25 26 25 160 50 - 5 2 ° 100 7]
EMR-5R x 26 x 200-C25 26 25 200 50 - 5 2 ° 135 i
EMR-5R x 26 x 250-C25 26 25 250 50 - 5 2 ° 160
EMR-5R x 30 x 110-C20 30 20 110 40 - 5 2 ° 70 —
EMR-5R x 30 x 110-C3/4 30 19.05 110 40 - 5 2 ° 70
EMR-5R x 30 x 160-C25 30 25 160 50 - 5 2 ° 110 5{5
EMR-5R x 30 x 200-C25 30 25 200 50 = 5 2 ° 145 i<
EMR-5R x 30 x 250-C25 30 25 250 60 - 5 2 o 170 F
EMR-5R x 30 x 300-C25 30 25 300 60 s 5 2 . 200
EMR-5R x 30 x 300-C32 30 32 300 60 - 5 2 ° 200
EMR-5R x 35 x 160-C32 35 32 160 50 = 5 2/3 e [170/180 18
EMR-5R x 35 x 200-C32 35 32 200 50 - 5 2/3 e [180/190 o
EMR-5R x 35 x 250-C32 35 32 250 60 - 5 2/3 . 225
EMR-5R x 35 x 300-C32 35 32 300 60 - 5 3 o | 245 fl
EMR-5R x 35 x 350-C32 35 32 350 60 : 5 3 . 275 —
EMR-5R x 35 x 400-C32 35 32 400 60 - 5 3 . 320
EMR-5R x 40 x 160-C32 40 32 160 50 - 5 4 o 250 i
EMR-5R x 40 x 200-C32 40 32 200 50 - 5 4 . 260 &
EMR-5R x 40 x 250-C32 40 32 250 60 - 5 4 ° 300 7
EMR-5R x 40 x 300-C32 40 32 300 60 - 5 4 ° 340
EMR-5R x 40 x 350-C32 40 32 350 60 - 5 4 . 380 —
i
7]
&2
S J1 K Insert JE#R Clamp H2£T Screw #23F Wrench
= [
© B = .
BAP300R APMT 1135 PDER Y-4R M3 x7 T10 *7%
BAP400R APMT 1604 PDER Y-5R M3.5 x 10/M4 x 9 T15

PE B E i http: //www. mzging. com ML T E B http: //www. topshopw. com  MZGHLEE T H:http://www. mzgtool. com MZGYJiH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor

—=—71k: A25-26
EfE: KOt

od

W EMRW IMITSUBISHI

E I HET] | AMITSUBISHIMATERIALS

ol B T S
EMT .

Roughing Pocketmilling  Sloot,plungemiling  Shoulder milling Copy milling

L2

o7 s, MRS
OXBEMKX, HBYH

EiE=" R~ Size T8 e JE# Clamp | 42T Screw | #EF Wrench Stock
Cat. No D | d L | L1]| L2]| a |Noofflutes Insert @ & A
EMRW-6R x 32 x 160-C25 32 | 25 160 | 50 - 6 2 ° 165
EMRW-6R x 32 x 160 32 | 32 |160| 50 - 6 2 ° 165
EMRW-6R x 32 x 200-C25 32 | 25 1200| 50 - 6 2 ° 175
EMRW-6R x 32 x 200 32 | 32 |200]| 80 - 6 2 ° 175
EMRW-6R x 32 x 250-C25 | 32 | 32 | 250| 60 - 6 2 ° 190
EMRW-6R x 32 x 250 32| 32 |250 /100 | - 6 2 ° 190
EMRW-6R x 35 x 160-C32 | 35 | 32 | 160 | 50 - 6 3 ° 210
EMRW-6R x 35 x 200-C32 35 | 32 |200| 50 - 6 ) ° 215
EMRW-6R x 35 x 250-C32 | 35 | 32 | 250 | 60 - 6 3 RPMW 1204 MO ° 230
EMRW-6R x 35 x 300-C32 35| 32 |300| 60 - 6 3 Y-6R M4 x 10 T15 ° 260
EMRW-6R x 35 x 350-C32 | 35 | 32 [350| 60 | - 6 3 ° 300
EMRW-6R x 35 x 400-C32 | 35 | 32 | 400 | 60 = 6 3 @ ° 350
EMRW-6R x 40 x 160-C32 40 | 32 |160| 50 - 6 3 ° 250
EMRW-6R x 40 x 200-C32 | 40 | 32 |200| 50 | - | 6 3 RPMT 1204 MO ° 260
EMRW-6R x 40 x 250-C32 40 | 32 | 250 60 - 6 3 ° 300
EMRW-6R x 40 x 300-C32 | 40 | 32 |300| 60 | - 6 3 ° 340
EMRW-6R x 40 x 350-C32 | 40 | 32 |350| 60 - 6 3 ° 380
EMRW-6R x 50 x 200-C32 50 | 32 | 200 | 60 - 6 4 ° 340
EMRW-6R x 50 x 250-C32 | 50 | 32 | 250 | 60 - 6 4 ° 380

It
1 H R200 5 =" 7IH: A25-26
Ef=%va 9] _ ) | FE4: KO
[ a
SANDVIK ol BT T

% o

R = '/‘A = & T

7] !m! et : eNKMER, WALE

i ant ) @arnt (ERENE] FEOEN exEEMA, HEHF

ﬂ% RTJ' Size DJQ J1K Insert 92%T Screw #%3F Wrench

I Cat. No D d L L1 a |No.offlutes @ % @ A Stock

K R200-5R x 25 x 160-C20 25 | 20 | 160 | - 5 2 o 110
R200-5R x 25 x 160-C24 25 | 24 | 160 | - 5 2 o 110

7 R200-5R x 25 x 200 25 | 25 | 200 | 75 | 5 2 RCLIT10T3MO | M3.5x8.5 T5 e | 110

S R200-5R x 25 x 200-C24 25 | 24 | 200 | - 5 2 o 145

R200-5R x 25 x 200-C25 25 | 25 | 200 | - 6 2 o 145

| R200-6R x 32 x 160-C25 32 | 25 | 160 | - 6 2 ° 165

b R200-6R x 32 x 200-C25 32 | 25 | 200 | - 6 2 ° 175
R200-6R x 32 x 250-C25 32 | 25 | 250 | - 6 2 RCIT1204 MO | M35x10 T15 o 190

f
R200-6R x 33 x 160-C32 33 | 32 | 160 | - 6 2 o 165
R200-6R x 33 x 200-C32 33 | 32 | 200 | - 6 2 . 175

g R200-6R x 33 x 250-C32 33 32 | 250 - 6 2 ° 190

'H

g

7L

%

7]

&2

i

7]

7

”

X
o
PoS
5
op
=

o

chttp://www.mzginj. com #PEMNLME T H @i http: //www. topshopw. com  MZGHLHE T H:http://www. mzgtool. com MZGYJH| T E:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

B TRS

e . HITACHI

Roughing Pocketmilling  Sloot,plungemiling  Shoulder milling

-
FmE {57 T

Copy milling

od

—=—71k: A25-26

Eff4: Kot

o7 s, MRS
OXBEMKX, HIBYH

= R~ Size N Stock
Cat. No D d L L1 L2 a No. of flutes
TRS—2.5R x 8 x 80 8 8 80 30 Z 25 1 o 150
TRS-2.5R x 10 x 120 10 10 120 40 - 2.5 2 o 150
TRS-2.5R x 12 x 120 12 12 120 40 - 2.5 2 o 150
TRS-3.5R x 10 x 120 10 10 120 40 - 3.5 1 o 150
TRS-3.5R x 12 x 120 12 12 120 40 - 3.5 1 o 150
TRS-3.5R x 16 x 120 16 16 120 40 - 3.5 2 o 120
TRS-3.5R x 16 x 160 16 16 160 40 - 3.5 2 o 120
TRS—-4R x 12 x 130 12 12 130 40 : 4 1 C 100
TRS-4R x 13 x 130-C12 13 12 130 40 - 4 1 o 100
TRS-4R x 16 x 160 16 16 160 40 - 4 2 o 110
TRS-4R x 16 x 160-C15 16 15 160 40 - 4 2 o 110
TRS-4R x 16 x 200 16 16 200 40 100 4 % o 140
TRS-4R x 16 x 200-C15 16 15 200 50 - 4 2 o 140
TRS-4R x 17 x 160-C16 17 16 160 40 = 4 2 ° 110
TRS-4R x 17 x 200-C16 17 16 200 50 - 4 2 o 140
TRS-4R x 20 x 160 20 20 160 50 - 4 5 o 130
TRS—4R x 20 x 160-C19 20 19 160 50 . 4 5 o 130
TRS-4R x 20 x 200 20 20 200 50 100 4 2 o 145
TRS-4R x 20 x 200-C19 20 19 200 50 - 4 2 o 145
TRS-4R x 21 x 160-C20 21 20 160 50 - 4 2 o 130
TRS-4R x 21 x 200-C20 21 20 200 50 - 4 2 o 145
TRS-5R x 20 x 160 20 20 160 50 : 5 2 S 130 |
TRS-5R x 20 x 200 20 20 200 50 100 5 2 o 145
TRS-5R x 25 x 160 25 25 160 50 - 5 2 o 100 -
TRS-5R x 25 x 160-C20 25 20 160 50 - 5 2 o 100
TRS-5R x 25 x 160-C24 25 24 160 50 - 5 2 o 100
TRS-5R x 25 x 200 25 25 200 60 - 5 2 ° 135 =
TRS-5R x 25 x 250 25 25 250 60 115 5 2 ° 160 vl
TRS-5R x 26 x 160-C25 26 25 160 50 - 5 2 . 100 1
TRS-5R x 26 x 200-C25 26 25 200 60 - 5 2 . 135
TRS-5R x 30 x 160-C25 30 25 160 50 - 5 2 . 110 —
TRS-5R x 30 x 200-C25 30 25 200 50 - 5 2 . 145
TRS-5R x 30 x 250-C25 30 25 250 60 - 5 2 e | 170 T
TRS-5R x 35 x 160-C32 35 32 160 50 - 5 3 o 180 K
TRS-5R x 35 x 200-C32 35 32 200 50 - 5 3 ° 190 F
TRS-5R x 35 x 250-C32 35 32 250 60 - 5 3 o 225
TRS-6R x 32 x 160-C32 32 25 160 50 - 6 2 o 165
TRS-6R x 32 x 200-C32 32 25 200 50 - 6 2 o 175 1A
TRS-6R x 32 x 250-C32 32 25 250 60 - 6 2 o 190 o
TRS-6R x 40 x 160-C32 40 32 160 50 - 6 3 o 250 7
TRS-6R x 40 x 200-C32 40 32 200 50 - 6 3 o 260
TRS-6R x 40 x 250-C32 40 32 250 60 - 6 3 o 300 ——
_TRS-6R x 40 x 300-C32 40 32 300 60 - 6 3 o 340
15
b
e J1K Insert FEHE Clamp #2847 Screw 7 Wrench 7L
=7
Cat. No @@ % . & —
%
TRS-2.5R RDMW 0501 MO — M1.8 x 4 T6 7]
TRS-3.5R RDMW 0702 MO — M2.5 % 6 T8 &
TRS-4R RDMT 0802 MO Y-4R M3 x7 T8 ”
TRS-5R RDMT 10T3 MO Y-5R M3.5x10 M4 x9 T15 7
TRS-6R RDMT 1204 MO Y-6R M4 x 10 T15 #

=

BLegaul:http://www. mzginj. com $4ZE MU T H @ http: //www. topshopw. com

MZGHLBE T H:http://www. mzgtool. com MZGYIH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor

H ASJ-4P == 71K: A25-26
gt HITACHI FEME: KO1
A = (£ o
2 [ : |
proed l Pryees i P 3| o= —|——— o FETLRE TRt
Roughing Pocketmilling  Sloot,plungemiling  Shoul Copy milling } .é%%ﬁtgjéiﬁk "
~i—JL1 TmhE '
L .?ﬁ;}#ﬂ?@ﬁ, ] R
e Rt Size T1 K Insert 25T Screw | #RF Wrench
Cat. No @ E @ E‘ S
D d L | L1] 2] a pe =
ASJ-17 x 160-C16-4T| 17 | 16 | 160 | 40 | - | 16 |ADMT080308L APMTO9208R| M25x6M2x5  T8/T6 e | 175
ASJ-20 x 160-C20-4T| 20 | 20 | 160 | 40 | - 20 e | 200
ASJ-20 x 200-C20-4T| 20 | 20 | 200 | 40 | - 20 ADMT1003CJCIL V25 x 6 8 e | 215
ASJ-21x 160-C20-4T| 21 | 20 | 160 | 35 | - 20 ACMT10030JCIL : e | 200
ASJ-21x 200-C20-4T| 21 | 20 | 200 | 35 | - 20 e | 215
ASJ—25 x 160-C25-4T| 25 | 25 | 160 | 50 | - | 25 e | 230
ASJ-25 x 200-C25-4T| 25 | 25 | 200 | 75 | - 25 e | 250
ASJ-25 x 250-C25-4T| 25 | 25 | 250 | 75 | - 25 ADMT12T3CICIL V55 7 o e | 270
ASJ-26 x 160-C25-4T| 26 | 25 | 160 | 50 | - 25 APMT12T30I0IL : e | 230
ASJ-26 x 200-C25-4T| 26 | 25 | 200 | 50 | - 25 e | 250
ASJ-26 x 250-C25-4T| 26 | 25 | 250 | 50 | - | 25 e | 270
ASJ—30 x 160-C25-4T| 30 | 25 | 160 | 80 | - 25 e | 240
ASJ-30 x 200-C25-4T| 30 | 25 | 200 | 80 | - 25 e | 260
ASJ-30 x 250-C32-4T| 30 | 25 | 250 | 80 | - 25 e | 280
ASJ-33 x 160-C32-4T| 33 | 32 | 160 | 80 | - 32 e | 250
ASJ-33 x 200-C32-4T| 33 | 32 | 200 | 90 | _ | 32 o | 275
ASJ-33 x 250-C32-4T| 33 | 32 | 250 | 120 | - 32 APMT1604010IL Va0 s e | 300
ASJ-35 x 160-C32-4T| 35 | 32 | 160 | 80 | - 32 APMT150410IL e | 250
ASJ-35 x 200-C32-4T| 35 | 32 | 200 | 90 | - 32 e | 275
— ASJ-35 x 250-C32-4T| 35 32 | 250 | 120 - 32 ° 300
%5 ASJ-35 x 300-C32-4T| 35 | 32 | 300 | 120 | - 32 e | 330
X ASJ-35 x 350-C32-4T| 35 | 32 | 350 | 120 | 32 e | 375
3;3]3 ASJ_35 x 400-C32-4T| 35 | 32 | 400 | 120 | . 32 e | 400
]
|
& %’g;‘EFM HITACHI =TIk A25-26
K =R F/M: Ko
e
W EOEE g
<] e |
o ) Wt -
| e
o L
7L
é - R~ Size J1 5 Insert #24T Screw | #FWrench
f ) Stock
fl Cat. No D | d | L | L1]|L2] a Q- @ @ %
—  TUEX12-16-160-C16-1T | 16 | 16 | 160 | 50 | - | 12 e | 100
%t'. UEX12-17-160-C16-1T 17 16 160 40 - 12 ° 100
UEX12-20-160-C20-2T | 20 | 20 | 160 | 50 | - 12 APIT1202 M3.5x 8 T15 e | 120
7] UEX12-20-200-C20-2T | 20 | 20 | 200 | 50 | 100 | 12 o | 135
# UEX12-21-160-C20-2T | 21 | 20 | 160 | 40 - 12 . 120
UEX16-25-160-C25-2T 25 25 160 50 - 15 ° 140
UEX16-25-200-C25-2T 25 25 200 50 - 15 ° 150
% UEX16-25-250-C25-2T 25 25 250 75 = 15 ) 165
e UEX16-26-200-C25-2T | 26 | 25 | 200 | 50 | - 15 ADCIT1603 M4 x 7.5 T15 e | 150
*:F UEX16-30-160-C25-3T 30 25 160 50 - 15 ° 180
UEX16-30-200-C25-3T 30 25 200 50 - 15 ° 190
— UEX16-30-250-C25-3T 30 25 250 75 - 15 ) 210

PE B gE i http: //www. mzging. com #EFEMNIAL T EH B http: //www. topshopw. com  MZGHLEE T H:http://www. mzgtool. com MZGYJiH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

ou

ITSUBISHI

ITSUBISHI MATERIALS

Plane finishing

oD

—=—71k: A25-26
FHMH: KOt

(=~ A (= 2.
@ . g L1 O E A MEGE TS, HIEI R AR
2Aps) Berar X THUBRL
Ep=! R -t Size J1H Insert JE# Clamp #7F Wrench
Cat. No D d L L1 a /5 Sl
TP11-16 x 100-C16 16 16 100 45 14 ° 150
TP11-20x 100-C20 | 20 20 | 100 | 45 14 TPLN1103 | TP-11 L3 o | 150
TP16-30 x 100-C20 30 20 100 45 14 ° 150
TP16-35 x 100-C20 35 20 100 45 14 ° 150
TP16-35 x 110-C32 35 32 110 45 14 ° 150
TP16-40 x 110-C20 40 20 110 45 14 TPLCIN1603 TP-16 L4 ° 150
TP16-40 x 110-C25 40 25 110 45 14 ° 150
TP16-40 x 115-C32 40 32 115 45 14 ° 150
TP16-50 x 110-C20 50 20 110 45 14 ° 200
TP22-50 x 110-C20 50 20 110 42 20 ° 200
TP22-50x 115-C32 | 50 32 | 115 | 42 20 TPLIN2204 | TP-22 L5 e | 200
mTJU HITACHI o . = 7K A25-26
#tT) - I 6 FHMF: KO
=l
Roughing a
= A = L1
@ ﬁ "4 e/, EAKEE
un ] (wo) (o Summh: AE
= R-t Size DLt J1H Insert #7F Wrench
Cat. No D d L L1 L2 a No. of flutes Stock
TJU-8 x 100 8 8 100 30 - 6 1 ° 90
TJU=10 x 130 10 | 10 | 130 | 30 | - 6 1 ggm 8285822 T8 e | 90
TJU-12 x 130 12 12 130 30 - 6 1 ° 95
TJU-16 x 130 16 16 130 30 = 6 2 ° 110
TJU-16 x 160 16 16 160 | 40 - 6 2 ° 120
TJU-16 x 200 16 16 200 40 100 6 2 ° 150
TJU-17 x 160-C16 17 16 160 | 40 100 6 2 CCMT 060204 8 T15 ° 120
TJU-17 x 200-C16 17 16 200 40 100 6 2 CPMT 0902042 o 150
TJU-20 x 160 20 20 160 40 - 6 2 ° 140
TJU-20 x 200 20 20 200 50 100 6 2 ° 150
TJU-21 x 160-C20 21 20 160 | 40 100 6 2 ° 140
TJU-25 x 160 25 25 | 160 | 50 - 9 2 o 160
TJU-25 x 200 25 25 200 60 - 9 2 ° 180
TJU-25 x 250 25 25 250 60 115 9 2 gEm; ?gggggz T15 ° 195
TJU-26 x 160-C25 26 25 160 60 - 9 2 ° 160
TJU-26 x 200-C25 26 | 25 | 200 | 60 | 115 | 9 2 o 180
TJU-32 x 160 32 32 160 60 - 12 2 ° 200
TJU-32 x 200 32 32 200 60 - 12 2 CPMT 120408 T20 o 210
TJU-32 x 250 32 32 250 60 - 12 2 CPMT 1604082 ° 220
TJU=32 x 300 32 32 300 60 166 12 2 ° 250

BHegrali-http://www. mzginj. com $#4PEHUAK T R @ http://www. topshopw. com

ot
7]
#

FAE

MZGHLME T H:http://www. mzgtool. com MZGHJH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor
m BCF/BCFL 3 3
R ALHtT) Dr — 1 Q",f, I
e’é@;\k % D
. ~a .| a.|
BCF % BCFL &
HITACHI o X AMEAN A BHABHEN T RE = J1A: A25-26
O T K REAERE, RMETI TR T RIKEIRDHES EfitF: KOt
R~t Size
S DIE
Cat. No D d L L1 a e it | S
10R x 150-C20 20 20 150 70 30 2/4 °
10R x 150-C25 20 25 150 70 30 2/4 | e | 500 | 550
10R x 200-C25 20 25 200 80 30 2/4 ° 550
10R x 250-C25 20 25 250 100 30 2/4 | e | 700 | 750
10R x 300-C32 20 32 300 150 30 2/4 e | 800 | 850
1.25R x 150-C20 25 25 150 70 39 2/4 | e | 550 | 600
1.25R x 150-C25 25 25 150 100 39 2/4 e | 700 | 750
1.25R x 200-C25 25 32 200 100 39 2/4 | e | 800 | 750
1.25R x 250-C25 25 32 250 150 39 2/4 e | 900 | 850
1.25R x 300-C32 25 32 300 150 39 214 | e 950
15R x 160-C32 30 32 160 70 43 2/4 e | 650 | 700
15R x 200-C32 30 32 200 100 43 214 | e | 750 | 800
15R x 250-C32 30 32 250 150 43 2/4 e | 850 | 900
15R x 300-C32 30 32 300 150 43 2/4 | e | 950 | 1000
15R x 350-C32 30 32 350 200 43 2/4 e | 1150 | 1200
16R x 160-C32 32 32 160 70 43 214 | e | 650 | 700
16R x 200-C32 32 32 200 100 43 2/4 e | 750 | 800
16R x 250-C32 32 32 250 150 43 214 | e | 850 | 900
16R x 300-C32 32 32 300 150 43 2/4 e | 950 | 1000
— 16R x 350-C32 32 32 300 200 43 2/4 | e | 1150 | 1200
# 20R x 200-C42 40 42 300 100 50 2/4 e | 1000 | 1050
o 20R x 250-C42 40 42 250 150 50 2/4 | e | 1100 | 1150
7] 20R x 300-C42 40 42 300 150 50 2/4 e | 1200 | 1250
o 20R x 350-C42 40 42 350 200 50 2/4 | e | 1300 | 1350
20R x 200-MT5 40 MT5 200 100 50 2/4 e | 1100 | 1150
— 20R x 250-MT5 40 MT5 250 150 50 2/4 | e | 1200 | 1250
I 25R x 200-C50.8 50 50.8 300 100 50 2/4 e | 1150 | 1200
K 25R x 250-C50.8 50 50.8 250 150 50 2/4 | e | 1250 | 1300
T 25R x 300-C50.8 50 50.8 300 150 50 2/4 e | 1350 | 1400
25R x 350-C50.8 50 50.8 350 200 50 2/4 | e | 1500 | 1550
— 25R x 400-C50.8 50 MT5 400 200 50 2/4 e | 1800 | 1850
48 25R x 200-MT5 50 MT5 200 100 50 2/4 ° 1350 | 1400
%E 25R x 250-MT5 50 MT5 250 150 50 2/4 | e | 1500 | 1550
7l
JIE Insert #2£T Screw #R3F Wrench
S
'R i=s
8 e | @Y | @\ | ([@H A
fl HI(17) FII(170) SNETI(270)
. BCF/BCFL 10R ZCEW\T 100CE | ZCEW\T 100SE | CPMT080204 M3.5x9.5 M25x6 T10 T8
$
7] BCF/BCFL12.5R | ZCEW\T 125CE | ZCEW\T 125SE | CPMT090308 M4 x 9 T15
&2
BCF/BCFL 15R ZCEW\T 150CE | ZCEW\T 150SE | CPMT090308 M5x12 M4 x9 T20 T15
o BCF/BCFL 16R ZCEW 160CE ZCEW 160SE CPMT090308 M5x12 M4x9 T30 T15
*71]: BCF/BCFL 20R ZCEW 200CE ZCEW 200SE CPMT090308 M6x18 M4x9 T30 T15
BCF/BCFL 25R ZCEW 250CE ZCEW 250SE CPMT090308 M6x18 M4 x9 T30 T15

Sz

FER R SEA S chttp: //www. mzginj. com #4EENIL T E B http: //www. topshopw. com MZGHLAE T H:http://www. mzgtool. com MZGYIH| T E:http://www. mzcut. com

¢


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

o

H T2139 W <0.015mm c==71E: A25-26
Bkl ¥ 8T WALTER . TR KOt
e
= = ol a1 T © E AR A A S AW
3 9] ‘| H © 7 T HHI7) R T T
L ‘g L2 ogﬂggg%g%ﬁa&%
L1 . KT
| = R~t Size
Bs J1 K Insert H2£T Screw #FWrench | Stock
Cat. No D d L L1 a
T2139-4R x 110-C8 8 8 110 25 5 . 170
T2139-4R x 110-C10 8 10 110 25 5 | P320]-D08| T21394R T8 . 170
T2139-4R x 140-C12 8 12 140 55 5 . 190
T2139-5R x 130-C10 10 10 130 30 7 . 135
T2139-5R x 160-C12 10 12 | 160 | 30 7 |P8200)-D10 | T21395R T15 o | 150
T2139-6R x 130-C10 12 12 130 32 8 . 135
T2139-6R x 160-C12 12 16 | 160 | 58.5 g |P8200)-D12| T21396R T20 e | 150
T2139-8R x 130-C12 16 16 130 65 10 . 155
T2139-8R x 160-C16 16 20 | 160 | 65 10 |P3200)-D16| T21398R 120 e | 200
T2139-10R x 160-C16 20 20 160 45 12.5 . 220
T2139-10R x 200-C20 20 20 200 76 12.5 |P320[1-D20| T2139 10R T20 o 275
T2139-10R x 250-C25 20 25 250 120 | 12.5 ° 310
T2139-12.5R x 160-C25 25 25 160 45 15 ° 450
T2139-12.5R x 200-C25 25 25 200 76 15 . 500
P320 [1-D 25 | T2139 12.5R T30
T2139-12.5R x 200-C32 25 32 200 98 15 ° 550
T2139-12.5R x 250-C32 25 32 250 120 15 ° 600
T2139-15R x 200-C32 30 32 200 80 18 _ ° 650
T2139-15R « 250040 = g S - 1g | P3200-D30| T213915R T30 . —
T2139-16R x 200-C32 32 32 200 80 19 _ ° 700
17139 16R « 950-0a0 5 g — o 19 | P3200-D32| T213915R T30 . e
B TP30°/45%60° | ieul 1 —
1457 ITSUBISHI A N E— e —
ﬁ']ﬁxl MITSUBISHI MATERIALS e 1 i;@)\ e
e ‘ TIH: A25-26
) Q | e TEM: KOt
S Gt -"”"”" OT30° . 45° . 60° LI, HAER
@ TR —gskK A
FLUp=] R~t Size T8 J1H Insert JE# Clamp | #2%$TScrew | #EFWrench Stock
Cat. No a° D d1 d L L2 | No.offlutes f ©e
TP16R-30° -10x35-C20 | 30 | 35 | 10 | 20 | 120 | 90 2 . 200
TP16R-45° -5 x 21-C16 45| 21| 5 | 16 [120] 90 1 |TPMN160308| TP-16 | 1/4%:% L4 ° 200
TP16R-45° -10x31-C20 | 45 | 31 | 10 | 20 | 120 | 90 2 ° 200
TP22R-45° —20x50-C25 | 45 | 50 | 20 | 25 | 130 | 90 3 . 250
TP22R-45° -20x50-C32 | 45 | 50 | 20 | 32 | 160 | 90 3 |TPMN220408| TP-22 |5/164¢% L5 o 250
TP22R-45° -32x63-C32 | 45 | 63 | 35 | 32 | 160 | 90 3 . 300
TP16R-60° —-10x24-C20 | 60 | 24 | 10 | 20 | 120 | 90 1 |TPMN160308| TP-16 | 1/4%:¥ L4 ° 200
TP22R—60° —20x35-C20 | 60 | 35 | 20 | 20 | 120 | 90 1 |TPMN220408] TP—22 | 5/16% W L5 . 250
W SD-45° [ITE] ﬂ . c==71H: A25-26
ﬁﬂ@]ﬁn Member IMC Group . ©, EEE# K01
. . g _{ﬂ
* eFFHAEAMT, WEMMT
[ nz | @l & NEE ‘ ‘ T ERMBERR, ERRATHL
Roughing Plane finishing Plane milling Copy milling ] L | %k s R
Bs R Size N TIB Insert | #24TS #7F Wrench | Stock
Cat. No D d L L1 a No. of flutes nser crew rent ocC
SD-25 x 110-C20 25 | 20 | 110 | 40 | 4.6 2 . 150
SD-25 x 150-C20 25 | 20 | 150 | 45 | 4.6 2 . 150
SD-25 x 110-C3/4 25 [19.05 110 | 40 | 4.6 2 . 150
SD-30 x 110-C20 30 | 20 | 110 | 40 | 46 | 2 SDMB26152 M3 x7 T10 e | 200
SD-30 x 150-C20 30 | 20 | 150 | 45 | 4.6 2 . 200
SD-30 x 110-C3/4 30 |19.05 110 | 40 | 4.6 2 . 200

ond

A

R ZEA S chttp: //www. mzginj.

com ¥ N T H @ :http: //www. topshopw. com

MZGHLIE T H:http://www. mzgtool. com MZGYJiH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor

mATS ITSUBISHI =714 A25-26
TEIEiRSE T MITSUBISHI MATERIALS I FFfE: KO
0 = R
H j .‘ S
mmT warmr) |=mEng
25 R Size AW | gpnsert | #4TS $7F Wrench | Stock
Cat. No S 3 = . T T 2 [ L3 |No.offues nser crew ren oc
ATS-25-11 25 25 | 12.5| 112 80 21 11 2 CCMT060204 M2.5x6 T8 ° 300
ATS-32-14 32 32 16 120 | 77 30 14 4 CCMT080304 M3x7 T10 ° 320
ATS-40-18 40 32 20 130 | 80 32 18 4 CCMTO09T308 M4 x 10 T15 ° 350
ATS-50-22 50 32 26 140 | 80 39 22 4 CCMT120408 M5 x 11 T20 ° 400
W AHEETD iTSUBiSHi c==71K: A25-26
MITSUBISHI MATERIALS ; of dﬁ Fe: Kot
) =) ' 1 ﬁ —, e
45
o NP Y
Eip=1 R~F Size
Cat. No 5 q c 1 TEET) = J1 K Insert 24T Screw #RFWrench | Stock
BC-2014 20 14 16 48 40 13 3.2 ° 200
BC-2317 23 17 20 50 50 13 3.2 TCMT110204 M2.5% 6.5 T8 o 200
BC-2721 27 21 25 56 70 13 3.2 TCGT110204 : ) ° 300
BC-3124 31 24 25 56 80 18 3.7 ° 300
B #HHLT iTSUBiSHi —==71k: A25-26
MITSUBISHI MATERIALS l'/ %, FEH: KOt
) o o fFes~—— T —J—————1 ﬂ
(—— 1] N 1
@ % ‘“‘ - o;:w:;xggz, i%hug%ﬁ]w%
- . ORAERH, Hb iR
N L B - st Midopy
%
= = R~t Size
=
7] Cat. No B g C 0 TERT = 71K Insert 1257 Screw #F Wrench | Stock
*ﬁ M10-1810 18 | 10.5| 16 48 35 13 4 CCMT060204 M2.5x6.5 T8 ° 200
— M12-2013 20 13 16 48 10 13 | 3.85 | CCGT060204 ) ) [ 200
M16-2617 26 17 20 50 50 13 14.85 ° 300
E M20-3321 33 21 25 56 70 13 6.4 gggigglggg M4 x 9 T15 ° 300
-[;é M24-4025 40 25 25 56 80 13 7.9 ° 300
F
— B 45 &xFXEAN HITACHI — T c—==71K: A25-26
D — 1 d o=
2 é; \ ) FEF: KOt
u O A #ETIFI45° YUK, IRAIHRIM, VELIHI, RO EMEER
. " b e mA_ iR, ONCHRE, CNCHR, HAEA
15 B AP Ny | HREE | AE | I8 1247 BF | g0k
%ﬁ Cat. No D d L No.offlutes |Chamfering range| Angle Insert Screw Wrench
?L SSK C20-20-130 20 20 130 O3~020 1 45 |ADNT160308 M4 x 8 T15 ° 200
G W 45 EffEA7N z L To1i 7 ' c==71K: A25-26
ITSUBISHI o 740 ’* d TR KO
7] MITSUBISHI MATERIALS N ' = :
L1
—ﬁ . @ L
O &S TIF45° YIHl, TRATHGEIf, VAEEIE], WO E (s A
n ot iEA IR, CNCELR, CNCHFE, MAEA
#t
7] B R i nw | GRRE |mE| K | BT | EF | g
1::': Cat. No D d D1 a L1 L No. of flutes | Chamferingrange | Angle Insert Screw | Wrench
SSK C20-20-130 20| 20 0 11.3| 20 | 130 1 ©0~D20 45 TCMT16T308. |M4x9| T15 [J

DR A Hhttttyp: /.. imvzggiim 1. cooom B4R bELU T SR - thttttmp::////www: . ttaopssthoorp. coomm— MZGHHLUBHRE T 1L -tttz /7wy, mzzggttaoool ... coomm - MG TE 1L :Fhttttpp: /A, . mzzaowitt. . cooom


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com
http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

m IR FLEET) liTSUBiSHi L
ITSUBISHI MATERIALS P i T =
D
2o el TIE: A25-26
] & | g | =R Kot
i oM GEMEARAEMIAATF—8, —RMIEH,
Roughing Gopy milling KIFRS B4 TBEFLA N TR
A= R~t Size T
Cat. No 5 BA q 1 3 No. of flues J1H Insert | %2$TScrew | ##FWrench | Stock
CH-8-14-C25 14 2.9 25 21 108 1 Py 200
CH-10-17.5-C25 175 | 5.3 25 26 115 2 . 200
CH-12-20-C25 20 | 78 | 25 | 30 | 120 p  |CCMT060204  M2.5x6 T8 e | 200
CH-14-23-C25 23 10.8 25 34.5 126 2 ° 250
CH-16-26-C32 26 8.5 32 39 132 2 ° 250
CH-18-29-C32 29 11.5 32 43.5 139 2 CCMTO09T308 M4 x 9 T15 ° 300
CH-20-32-C32 32 14.5 32 59 144 2 ° 300
W 45° f#EHfAEN 2 (i
ITSUBISHI
ITSUBISHI MATERIALS DD14L ] Ly Il}__,l_ . A25-26
IV TR KOT
- ‘ L
L= R~t Size T e TR HBET e Stock
Cat. No D D1 d L No.offlutes | Angle Insert Screw Wrench
TCMO03-25 25 3 20 110 1 45 TCMT16T304 M4 x 9 T15 ° 250
B APK EXI8NHF *N I == 71K A25-26
°| ************* —° FfifF: KO
LR - |
E=II-‘ am pE——— |
o T — O EMELTEHTT, KEMIRTL
— 7‘ " = . i,‘g;),f,,,,%,f © R~ 776 ) T H R
\—/ ! ! ' na HEB M,
_ o L1 | ‘*
= R~ Size - T1F Insert H2ET Screw #F Wrench
S 7]% TR# Stock
Cat. No D d L1 L No. of flutes T E
APK-20-100-28L 20 20 28 100 2 5 ° 1000
APK-25-130-37L 25 25 37 130 2 8 APKT1003 M2.5 T8 . 1150
APK-32-140-46L 32 32 46 140 3 15 . 1250
B SPM EXu#74# S Sas"< . — — [ A C==TIH: A25-26
R — ~ EALf: KO
WALTER o -
— — — _ eEMALEMSET), HEMIRTL
= A = OR~TAHNFHEEERRE,
[ Ne—— o 4%7 .UI ﬁﬁf_ﬁkﬁaﬁo
.”!‘I u‘:""”‘"i _‘“ -"Efl‘f’.ﬂ"f " \
R~t Size T1H Insert H2£T Screw | 3 Wrench
Bs & N Stock
Cat. No D d L1 L Figure | No.offlutes | T IZ' @ T @ @
SPIVI-40-150-50L-32 | 40 | 32 | 50 | 150 | A 4 2 | P27215-3 | 12 |[SDMT090308] M4 T15 ° 1600
SPIM-40-170-55L-C42| 40 | 42 | 56 | 170 B 2 1 | LPMT1504 | 15| SPMT1204 M5 T20 ° 1800
SPIM-50-200-77L-C42| 50 | 42 | 77 | 200 B 4 2 | LPMT1504 | 14 | SPMT1204 M5 T20 ° 2000
SPIVI-50-250-158-C42| 50 | 42 | 158 | 250 B 4 2 | LPMT1504 | 30 | SPMT1204 M5 T20 ° 2200

o
o

op
i

RS

chttp://www. mzginj. com #43HUM T H i http://www. topshopw. com

il

7

S

N

il

MZGHLBE T H:http://www. mzgtool. com MZGYJiH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Bt 71+

Milling Arbor

B SMP=EZ%7N(FOH) C==T1H: A25-26

FHLF: KOt
" '/‘A (— ap
= r
Roughing Siootplungemiing  Shor
°| &
O
o
1=
©
MZG
MZG SPAK PLUG CO., LTD

ﬂ":'q R -t Size ﬁﬁ J1K Insert 42%T Screw #F Wrench
L Stock
Cat. No oD | ®C | ®d | ae | ap H z Eﬂ @ & /R
SMP-80 x 8-K27-10T-06 80 | 41 | 27 | 17 8 12 10 °
SMP-100 x 8-K32-14T-06 | 100 | 47 | 32 | 25 8 12 14 . 2000
SMP-100 x 10-K32-14T-06| 100 | 47 | 32 | 25 | 10 | 14 14  |MPL1T060304| M2.5x6.5 T8 ° 2000
SMP-125 x 10-K40-16T-06| 125 | 55 | 40 | 34 | 10 | 14 16 o 2200
SMP-125 x 12-K40-12T-08| 125 | 55 | 40 | 34 | 12 | 16 12 ° 2200
SMP-160 x 12-K40-14T-08| 160 | 63 | 40 | 47 | 12 | 16 14 ° 2400
SMP-160 x 16-K40-12T-12| 160 | 63 | 40 | 49 | 16 | 20 12 |MP[1T080305 M3x7 T8 ° 2400
SMP-160 x 20-K40-12T-12| 160 | 63 | 40 | 49 | 20 | 25 12 ° 2400
SMP- 200 x 16-K50-14T-12| 200 | 72 | 50 | 62 | 16 | 25 14 ° 2700
s SMP—200 x 20-K50-14T-12| 200 | 72 | 50 | 63 | 20 | 26 | 14 MPLIT120408] M5x13 20 e | 2700
8
1%
B
5 W SMP=EA%NNER) B .,
3 (= A = o | &
! [
;]'— woanr) (zmmac - <4 o
518
m o
S MZGMPLZUGQLTD
I H
FE
/. ap,
,,f; .
= l
© @
. f% ==K A25-26
A8 =-£3 ¢ TR KOT
5= =
7l
= H
5
oL = + Si Tk Insert 24T Screw #RF Wrench
%E S R Size HEEH N & Stock
7 Cat. No D d H W T a z Eﬂ @
SIVIP-80 x 8-22A-06-10 80 | 45 | 22 | 21 8 40 10 . 1800
SMP-100 x 8-B27-06-14 | 100 | 55 | 27 | 24 8 40 14 . 2000
o SMP-100 x 10-B27-06-14 | 100 | 55 | 27 | 24 | 10 | 40 14 |MPL1T060304| M2.5x6.5 T8 ° 2000
7] SMP-125 x 10-B27-06-16 | 125 | 65 | 32 | 33 | 10 | 45 16 . 2200
= SMP-125 x 12-B32-08-12 | 125 | 65 | 32 | 33 | 12 | 45 12 ° 2200
SMP-160 x 12-B40-08-14 | 160 | 80 | 40 | 45 | 12 | 50 14 . 2400
__ SMP-200x 12-C40-08-18 | 200 | 92 | 40 | 53 | 12 | 50 18 ° 2700
SMP-125 x 16-B32-12-10 | 125 | 65 | 32 | 30 | 16 | 50 10  |MP[1T080305| M3x7 T8 ° 2200
o SMP-160 x 16-B40-12-12 | 160 | 80 | 40 | 45 | 16 | 60 12 . 2400
7] SMP-160 x 18-B40-12-12 | 160 | 80 | 40 | 45 | 18 | 60 12 . 2400
o SIMIP-200 x 16-C40-12-12 | 200 | 92 | 40 | 53 | 16 | 50 14 . 2700
SMP-200 x 18-C40-12-14 | 200 | 92 | 40 | 53 | 18 | 50 14  |MP[1T120408] M5x13 T20 ° 2700
——— _SMP-200 x 20-C40-12-14 | 200 | 92 | 40 | 53 | 20 | 50 14 ° 2700

PE B E i http: //www. mzging. com EFEMNIAN T E B http: //www. topshopw. com MZGHLAE T H:http://www. mzgtool. com MZGYIH| T H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

B St 5100 I 40 5 ok B9 88 4F 77 ik

How to select cutting conditions for milling

@ 11| B (Vc) Cutting Speed

Ve= —500

TTxDx

n (m/min)

& j#(n) Revolution

_ 1000xVc

TTxD

(min™)

Vc: YIH|E E m/min cutting speed

D : 714 mm cutter diameter

n : & min' RPM

w :[ElEZE 3.1416 Circumference ratio

@ E4AEE(V)Feed rate

Vf=fz x Zx n(mm/min)

5714 (fz)Feed rate per tooth

\ai

fz= ——— (mm/tooth)

Zxn

Vf: 4 EE m/min Feed rate

Z : J18{ Number of flutes

n : EiE min' RPM

fz . 714 mmitooth feed per tooth

@ jn TRERE(Te)

L .
Tc= ——(min
Vf( )

Tc : fin TR
min cutting time

Vi §4ENTIESERET

Feed rate per minute of table
L: BT EE8EARETCHRE+#SHTIER)Mm

Overall table feed length(workpiece length+grinder dia.)

® 41 E /1(Ne)Feed rate

Ne=

apxaexVfxKs
60x10°xnN

(KW)

. KS (tk ‘E’J ﬁ“ Iﬁ j] ) Specific cutting resistance

T st

Work materials

L3R BE(N/m’) R AR

Tensile stength(N/m?)or hardness

Ne: F1HIE 51 kw

Cutting power(horsepower)

ae: YIHIEE mm
Cutting width
n: ##%ZE(0.6~0.8)

Mechanical effciency

ap: YIHIR E mm
Cutting depth

Vf: 48 3 E mm/min
Feed rate

Ks: EE¥1#IBE 77 kg/mm2

Relative cutting resistance

(2B T % Referto table below)

¥ T 5 7] &4 B EE T HIBR F1(N/mm?®)ks  ks:Specific cutting resistance(N/mm?) for feed tooth

il

A

S

0.6mm/tooth

Mild steels
Medium steels

Hard steels

Tool steels

Chrome molybdenum steels

Chrome molybdenum steels

5 #5048

Nickel chrome molybdenum steels

Cast steels

EEEM

Hard cast steels

Meehanite cast steels

3

Gray cast steels

¥

Yellow coper
& £(A-Mg)
Light alloy(Al-Mg)
& & (Al-Si)
Light alloy(Al-Si)

520
620
720
670
770
770
630
730
600
940
352HB
520
46HRC
360
200HB
500
160
200

0.1mm/tooth | 0.2mm/tooth
2200 1950
1980 1800
2520 2200
1980 1800
2030 1800
2300 2000
2750 2300
24540 2250
2180 2000
2000 1800
2100 1800
2800 2500
3000 2700
2180 2000
1750 1400
1150 950
580 480
700 600

0.3mm/tooth | 0.4mm/tooth
1820 1700
1730 1600
2040 1850
1730 1700
1750 1700
1880 1750
2060 1800
2140 2000
1860 1800
1680 1600
1760 1700
2320 2200
2500 2400
1750 1600
1240 1050
800 700
400 350
490 450

1580
1570
1740
1600
1580
1660
1780
1800
1670
1500
1530
2040
2200
1470
970
630
320
390

FARR

#

o i

o R

o

iy

SRLE S dihttp: //www. mzginj.

com ¥ MM T H @ :http://www. topshopw. com

MZGHLME T H:http://www. mzgtool. com MZGUJH| T.H:http://www. mzcut. com


http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

	1: 铣刀盘AJX/TXP/SKS/ASR
	2: BAP/AHUB/EMR
	3: EMRW/R200/TRS
	4: KM/BAP/FM/R390
	5: TP/SD/SE
	6: AP/FP/APC/SPC
	7: 铣刀杆ASR/AJX
	8: BAP
	9: AHU/R390/T217.69
	10: EMR
	11: EMRW/R200
	12: TRS
	13: ASJ/UEX
	14: TP/TJU
	15: BCF/BCFL
	16: T2139/倒角刀
	17: T型刀/倒角刀
	18: 沉头铣刀/倒角刀/玉米铣刀
	19: 三面刃铣刀
	20: 技术参数

